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(A=Y GB/T10963.1 /IEC60898

FAINE CQC. CE

RE 1P. 2P. 3P. 4P

MEBR (A) 1. 2. 3. 4. 6. 10. 16. 20. 25, 32, 40. 50. 63
BMEME (Hz) 50

BEFH

METEBEUe (V) AC230 (1P) ; AC400 (2P. 3P. 4P)
MERBAMEEAICn (KA) 6.5

ME M Hm S B EVimp (kV) 4

NEBBEE, TH, Tmin (kV) 2

bR B Ih Ag =]

BRER 2

ERZE (ZHBEZER) Il

Bt #0178 30 B 4 it BEIMZ (3In~5In) ; CEMZ (5In~10In) ; DE!EIZ (10In~20In)
WL 45 1

il LR IE =R FET, 46H48

MwEs (R) 20000

BEEH (R) 10000

W 1P & %

IPA0 (RETHECERIEA)

finlwhE (GB/T2423.5) (m/s?)

150, EZ&1Tms¥ K

fmZEa (GB/T2423.10)

59-20)R &, $i%5...150...5Hz (£10.8In)

MIE A M(GB/T2423.4)(°C/RH)

28 XEH (#55/95...100)

HEERKERE (°C) 30

FRARERE (°C) -5~+40

EFERE (°C) -40~+70

RESH

BEERFESL VRl F, BE=

BRAREZEN S%iEE25mm?, BHIH4EE0.8-2mm
EiEHE (N.m) 2.5

= KFE (W+F)

B ZETFIREDIN EH (35mm)

HEHLTN EFHT
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r C 1
(B{I: mm)
I I E R A Y
a 80%0.8
b 74.2%0.8 75.7+0.8
c 17.8+0.8 35.6%0.8 | 53.4%0.8 | 71.2+0.8
d 44+0.8
e 68.7+0.8 70.2%0.8
f 45:0.8
g 35.5%0.8
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